B APNaLS_4eALA

UEILA40_LZA4E Y

[

0.5

alphal3_4eX1X:cyclenum {run == 7307}

8644 8644.5 8645 8645.5 8646

cyclenum

deltad46_12X4eY:cyclenum {run == 7307}

8644 8644.5 8645 8645.5 8646

cyclenum

alpha46_4eY4aY:cyclenum {run == 7307}

alpha4b_4ey4ay
T

8644 8644.5 8645 8645.5 8646
cyclenum

run:cyclenum {run == 7307}

7309

7308.5

7308

7307.5

7307

7306.5

7306

7305.5

7305

8644 8644.5 8645 8645.5 8646
cyclenum

deltal3_lzx4ex

segment

o
2

25

15

05

deltal3_12X4eX:cyclenum {run == 7307}

8644 8644.5 8645 8645.5 8646
cyclenum
segment:cyclenum {run == 7307}

8644 8644.5 8645 8645.5 8646
cyclenum




USI_1A

usi_4ey

0.5

=

usl_1X:cyclenum {run == 7307}

P -
e e e eeeeamaenaaaaan .-

8644 8644.5 8645 8645.5 8646
cyclenum

usl_4eY:cyclenum {run == 7307}

8644 8644.5 8645 8645.5 8646

cyclenum

usl_say

usl_12x

[

0.5

[

0.5

usl_4aY:cyclenum {run == 7307}

8644 8644.5 8645 8645.5 8646
cyclenum

usl_12X:cyclenum {run == 7307}

8644 8644.5 8645 8645.5 8646

cyclenum

usl_sex

7309

7308.5

7308

7307.5

7307

7306.5

7306

7305.5

7305

usl_4eX:cyclenum {run == 7307}

[

8644 8644.5 8645 8645.5 8646
cyclenum

run:cyclenum {run == 7307}

8644 8644.5 8645 8645.5 8646

cyclenum



USI_L1A

usI_aey

0.5

=

usr_1X:cyclenum {run == 7307}

P -
e e e eeeeamaenaaaaan .-

8644 8644.5 8645 8645.5 8646
cyclenum

usr_4eY:cyclenum {run == 7307}

8644 8644.5 8645 8645.5 8646

cyclenum

usr_say

usr_12x

[

0.5

[

0.5

usr_4aY:cyclenum {run == 7307}

8644 8644.5 8645 8645.5 8646
cyclenum

usr_12X:cyclenum {run == 7307}

8644 8644.5 8645 8645.5 8646

cyclenum

usr_aex

7309

7308.5

7308

7307.5

7307

7306.5

7306

7305.5

7305

usr_4eX:cyclenum {run == 7307}

[

8644 8644.5 8645 8645.5 8646
cyclenum

run:cyclenum {run == 7307}

8644 8644.5 8645 8645.5 8646

cyclenum



2246.4
2246.2F
32246 F
2245.8F
2245.6F
2245.4
2245.2
32245
2244.8F
2244.6F
22444 F

2244.2F

usi_culo

usl_coill:cyclenum {run == 7307}

8644 8644.5 8645 8645.5 8646

cyclenum

usl_coil6:cyclenum {run == 7307}

-
T

8644 8644.5 8645 8645.5 8646
cyclenum

3615.5

6615

3614.5

6614

3613.5

[

usl_coll/

0.5

usl_coil3:cyclenum {run == 7307}

8644 8644.5 8645 8645.5 8646
cyclenum

usl_coil7:cyclenum {run == 7307}

8644 8644.5 8645 8645.5 8646
cyclenum

1352.5

4352

1351.5

4351

1350.5

7309

7308.5

7308

7307.5

7307

7306.5

7306

7305.5

7305

usl_coil4:cyclenum {run == 7307}

8644 8644.5 8645 8645.5 8646
cyclenum

run:cyclenum {run == 7307}

8644 8644.5 8645 8645.5 8646
cyclenum




72515

27252

7252.5

27253

7253.5

=

usI_coio

usr_coill:cyclenum {run == 7307}

8644 8644.5 8645 8645.5 8646
cyclenum

usr_coil6:cyclenum {run == 7307}

8644 8644.5 8645 8645.5 8646

cyclenum

-5665

5665.5

-5666

5666.5

-5667

[

usr_coll/

0.5

usr_coil3:cyclenum {run == 7307}

8644 8644.5 8645 8645.5 8646
cyclenum

usr_coil7:cyclenum {run == 7307}

8644 8644.5 8645 8645.5 8646
cyclenum

3477

3476.5

3476

3475.5

3475

7309

7308.5

7308

7307.5

7307

7306.5

7306

7305.5

7305

usr_coil4:cyclenum {run == 7307}

8644 8644.5 8645 8645.5 8646

cyclenum

run:cyclenum {run == 7307}

8644 8644.5 8645 8645.5 8646
cyclenum




-423.5

—424

-424.5

-425

-425.5

—485

-485.5

-486

-486.5

—487

1X_coill:cyclenum {run == 7307}

8644 8644.5 8645 8645.5 8646
cyclenum

4eX_coill:cyclenum {run == 7307}

8644 8644.5 8645 8645.5 8646
cyclenum

-70.5

=71

-715

-93.5

-94.5

1X_coil3:cyclenum {run == 7307}

8644 8644.5 8645 8645.5 8646
cyclenum

4eX_coil3:cyclenum {run == 7307}

8644 8644.5 8645 8645.5 8646
cyclenum

1X_coll/

4eXx_coll/

[

05

1

1X_coil7:cyclenum {run == 7307}

8644 8644.5 8645 8645.5 8646
cyclenum

4eX_coil7:cyclenum {run == 7307}

8644 8644.5 8645 8645.5 8646
cyclenum




169.5

169

168.5

167.5

180.8

180.6 F
180.4F

180.2F

180

179.8

179.6

179.4

179.2F
179F
178.8F

178.6 F

4aY_coild:cyclenum {run == 7307}

8644 8644.5 8645 8645.5 8646
cyclenum

4eY_coil4d:cyclenum {run == 7307}

8644 8644.5 8645 8645.5 8646
cyclenum

4ay_collb
=

0.5

4eY_collb
=

0.5

4aY_coil6:cyclenum {run == 7307}

8644 8644.5 8645 8645.5 8646

cyclenum

4eY_coil6:cyclenum {run == 7307}

8644 8644.5 8645 8645.5 8646

cyclenum

4ay_coll/
=

05

4eY_coll/
=

05

4aY_coil7:cyclenum {run == 7307}

8644 8644.5 8645 8645.5 8646
cyclenum

4eY_coil7:cyclenum {run == 7307}

8644 8644.5 8645 8645.5 8646
cyclenum




-234.5

-235

-235.5

-236

-236.5

1ZA_CUNO

1

12X_coill:cyclenum {run == 7307}

8644 8646

cyclenum

8644.5 8645 8645.5

12X_coil6:cyclenum {run == 7307}

8644 8644.5 8645 8645.5 8646
cyclenum

12X_coil3:cyclenum {run == 7307}

-83.5

-84.5

[

12X_coi/

0.5

8644 8644.5 8645 8645.5 8646
cyclenum

12X_coil7:cyclenum {run == 7307}

8644 8644.5 8645 8645.5 8646

cyclenum

-1.5

-2

12X_col4

7309

7308.5

7308

7307.5

7307

7306.5

7306

7305.5

7305

12X_coil4:cyclenum {run == 7307}

8644 8644.5 8645 8645.5 8646
cyclenum

run:cyclenum {run == 7307}

8644 8644.5 8645 8645.5 8646
cyclenum
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